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The box weighing 
500 N is being 
pulled by a tension 
force of 300 N.  
There is 100 N of 
friction holding it 
back. -x
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The 80 kg box is 
pulled by a tension 
force of 200 N.  
There is 300 N of 
friction holding it 
back.
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The 900 kg plane is 
flying to the right.  The 
propeller provides 
5,000 N of thrust 
against 6,000 N of 
drag.The wings provide 
7,000 N of lift.
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The plane weighs 8,000 
N and is flying to the 
right.  The propeller 
provides 7,000 N of 
thrust against 5,000 N 
of drag.The wings 
provide 7,000 N of lift.
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